MERIIE?
= R
= 1
Fhmld?
= s 5 15K
\=4 651

2E(E? NS A
chipts A % / ?’
A B A ~
P TN A
A
ZD5575LA EIX?
A A

AD100KTJ}T:§

BA%Z 100 AOEICHIZ THE LT,

ZNZTNDEEDHF TH D, (HH12F~TF65F)

EbhTtw\amnii? 495A
BHELTL20[? 4.1A

+=IC N
OL\IZL\éODIat? 54.8A

EbNTL30E? st 26.6A
at 22.9A

ERRREIX? ma 29.5A
IS—h 83A

FIVNA R 38)\

e 1.2A

241t S - IREE 3.1 A
TU—5—(F? 1.1A

Lot (4 1.4

ESET
BULTULDDIE?
Aspmrs 10.7A

RAE

BULTWLBADIE?
E60mSRILL E 2.7)&

ERFEEIIAZZ? 36.0.

ERRRSREE? 0.3x

2 DR CIERE] 147
28.8.



B F R

EE($? 9.3\ ERFEOREREE?

15 (aa ) T1.2A
HSE(RET A (L7 16 A FB2SFWSU-YV.0HES) 377A
$38 (FE2EWFREDEBE) 5.5)\
NEY—ER%E Ay
ZFTNBDIE? J 4.4,

zREsoSRER? 2/7.9A

ﬁgﬁ'gﬁ'mr

]
R RLBRWV][HEIRLEL] INIZRSDI(F?
ERUTVLWBDIE? ]
st 1 2.6 A 20/ L 15.7A
ECHAICTR ?
e - EETHAICEZOE 0.9
ARVZEBRUTOBDIF?  scress, ge OU.LA
£~ 2mne 46.TA we 25.TA
2 v ARy I % - ERERfER—IC
\‘/W LI EDBRDIE? zlchanik? 0.45A
iy omir 6920 mEmcEnELCLIOR?
REOITHRBET 417 somur 32.0A
TEEES merspernE D4.0A
FZIFTTVBHIE? 0.2A ERemEe 22.2A
EEBBROBEDHF?
A 3.2 DERE 2.9A
PEFRTA 4.4\ mimExE 1.5A

mEmEERE  13.0A





